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WaEe sl | wgAR | s | UHRE | ayp | COMR | agg | COMA| agyg | COMR| zgg | CONMR | zgg | COMA| zgg | COMA | gg | COMA | e |coumatke
LR (kg) (kg) (kg) (kg) (kg) (kg) (kg)
HI)Y yybl | CcO2 2.32 1] 1331.49 3089 0 142.1 330 590.04/ 1369 655.81 1521 0 0 0
p [SLE yybb | CO2 2.49 1 127910] 318496 0 0 0 0 0 0 0
w [EH Yyb | CO2 2.62 1 4215 11043 0 973 2549 0 0 0 0 0
& AEH yybl | CO2 2.71 1 o[ 322301 873436 0 0 0 0 0 0
/g [RIEEAFRLPG) ke Cco2 3.00 1 3039 9117 161.46 484 126.27 379 0 0 0 0 0
= [BRIERZRAR(ING) ke Cco2 2.70 1 0 0 0 0 0 0 0 0
= [co2st 341745 873920 3258 1369 1521 0 0 0
EEXT(—tNEE@EE [Jybr| N20 0.000065 310 3836 77 0 0 0 0 0 0 0
TR [—BEXEEE kwh | CO2 0.555 1] 2390600 1326783] 2277852 1264208] 1797235] 997465 0 0 27016 14994 606 336 0
5 [BENEEESE | km CH4 0.00001 21 11572 2 0 1784/ 0 9923 2 9205 2 0 0 0
o [EBEENE km CH4 0.000035 21 0 0 0 0 0 0 0 0
i |[LEEYE km CH4 0.000015 21 2334 1 0 0 0 0 0 0 0
J [EER=E km CH4 0.000011 21 1992 0 0 0 0 0 0 0 0
BRARE km CH4 0.000035 21 0 0 0 0 0 0 0 0
w [BBADE km CH4 0.000015 21 789 0 0 0 0 0 0 0 0
B | km CH4 0.0000076 21 0 0 0 0 0 0 0 0
B | T [ BHRERE km CH4 0.000013 21 0 0 0 0 0 0 0 0
& [CcH4Et 3 0 0 2 2 0 0 0
® [y [BEANEEEE [ km N20 0.000029 310 11572 104 0 1784/ 16 9923 89 9205 83 0 0 0
E | [EEERE km N20 0.000039 310 0 0 0 0 0 0 0 0
7| [LEERE km N20 0.000026 310 2334 19 0 0 0 0 0 0 0
g | [BEEDE km N20 0.000022 310 1992 14 0 0 0 0 0 0 0
BRARE km N20 0.000035 310 0 0 0 0 0 0 0 0
w [BBANE km N20 0.000014 310 789 3 0 0 0 0 0 0 0
w (NEEYE km N20 0.000009 310 0 0 0 0 0 0 0 0
T | BBHEE km N20 0.000025 310 0 0 0 0 0 0 0 0
N205t 140 0 16 89 83 0 0 0
N20-CH45t 143 0 16 91 85 0 0 0
HFCHAN-ITIVDEAER | & [HFC-1344 0.015 1300 0 0 0 0 0 0 0 0
2 A CH4 0.55 21 51 589 0 0 0 0 0 0 0
A N20 0.022 310 51 348
w [JEEEN ton | CH4 0.00096 21 77712.69 1567 0 0 0 0 0 0 0
g [CEEIRBEL) ton | N20 0.0565 310] 77712.69] 1361138 0 0 0 0 0 0 0
T [BEFSRFVIE) ton | CO2 2695 1] 12122.08] 32669006 0 0 0 0 0 0 0
= & 34031711 0 0 0 0 0 0 0
L LARALEE Ens [CH4 [ 0.049] 21 44534.68 45826 86055.164 88551 0 0 0 0 0
=y m3__|[N20 | 0.00096] 310 44534.68 13254| 86055.164 25610 0 0 0 0 0
&t 0 59080 114161 0 0 0 0 0
CO2 34337534 2138128 1000723 1369 1521 14994 336 0
» [N2O 1361703 13254 25626 89 83 0 0 0
q CH4 2159 45826 88551 2 2 0 0 0
&1 |HFC-134ait 0 0 0 0 0 0 0 0
&% 35701396 2197208 1114900 1460 1606 14994 336 0
I 3oE 3 3232 0 346 1460 1606 0 0 0
Bl & o1 35698164 2197208 1114554 0 0 14994 336 0
EIASES 6644
N U\B+IEA T +135 Hft 42— (T15 +HHBBR HREXRE) BliExt &) 39025256
CO2% 34352864|CO25t 2141018 &Et 39031900
N205t 1361703[N205t 13426 (CO2-kg)
CH4 2159[CH4 45830 BRI RS M D T 5 RS
&% 35716726 &5t 2200274 6356250




